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10 x 10 =
6x2-= 6 x5 =
7 x 10 = 100x1-=
8x1-= Bx2-=
9x5-= 3xH5-=
12 x0 = O x 10 =
[/ x2-= 7 x1-=
4 x5-= 4 x 2 =
3x2-= 10x 2=
9x2-= 7 x5 =
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Evoluation 2 sur les

~

6 x 3=

10x0 =
Bbx4-= 4 x 2 =
/x2-= 6 x 10 =
4 x4-= 600 x 1 =
9xb5-= 2 x10 =
8 x2:= 6x5-=
6x4-= 7 x3=
Ox2-= 6 x0 =
8 x10 = Bx3-=
3x1-= 9 x 10 =




[

J |

]

Evoluation 3 sur les

~

.,.,v---{----~.....fy@bl}@5 de multiclication

*
., o
. .

.

‘e .
"Tapamns®
-
-

B x4-=
6x4-= 8 x 4 =
bxb-= Ox4-=
9x2-= 2 xX2-=
10 x 10 = 8 x3-=
65 x 0 = 20x1-=
37 x1-= 333 x0 =
8 x 100 = 85 x 10 =
9x10= 9 x 100 =
3X3-= 8 x5 =
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8 x10 =
9x3-= 56 x 10 =
4 x4 = 9 x 100 =
Dx4-= 60 x 10 =
6 x 10 = Ox3-=
Ox1-= 8 x4 =
50 x 0 = 4 x 2 =
24 x 10 = 7x3=
3x4-= 8 x5=
8 x2:= 3x 3=







